Lose die Gleichungen (Bsp. 1. bis 7.) und fiihre auch die Probe durch! G=R

1. 2.
a) 3x+5=23 a) Tx+3=5x+12
b) 8x-12=28 b) 6z+8=11z-7
c) 10y+23=3 c) 9y+4=3y-10
d) 11-5z=26 d) 100-7x=13x
e) 4z-9=-2 e) 09x+5=12x-34
fi 12y +15=19 fy 42t-7=11-33t
3. L3
a) 2_x+2=m a) Ix+7)=4(2x-1)
3 b) 4(5x-3)+6=10
b) 3?“—5=? ¢) 8(y + 10)- 30 = 5y
d) Hy-5 =4y-10
XeX=25
0 3%3% e) 3(6v+4)=9(2v- 3)
fy 8(3+2z)-3z=5z-8
3 6.
3y+5 _ 2y a) 2x(x-3)=x(2x +4)- 80
a) 2 3 b) X(x+ 3) =X+ 4(x - 3)
b) x+5 3_:,: c) (z-2)z+3)=z2+6
3 4 d) (y+3)y+5)=yly+11)
2x—5 _ 4x—9 e (x-Tx+1)=(x+3)x-2)
c) 2 ~ 5 7.
g 4x+30 _ 9-x a) (y+2)y-8)=(y-2)"-12
) "6 ~a b) (x-1)?= (x- 3)(x +2)
e) 2z+7 _ 9-3z c) (x+58)F=(x-3)7°+8x
5 6 d) (x-2)(x+2)=(x+6)?
e) (3z-1*=(3z+4)(3z-5)
Los.: 2. 3, 4.
a. a) 6 a) 9%, a) 12 a) 5
_ . b) 5 b) 3 b) 20 b) /s
E} u=2rm ges.: o) -2 c) s c) 30 c) 5%
_ab i d) -3 45 d) 7
b) A= 2 ges.. e €) 28 e)L={}
a+b+c ) n D24 h
c) == ges.: - N T
d) V=abc ges.: a) -3 a) 8 a) -4 ) =g
Zh b) 4 b) 12 b) 7 by p2A
e) V=2 ges.: Q) c) 12 ©) -2 c)a:25-ab-c
3 8 -3 d) 5 d) - o ool
f) A=rm+rms ges.: &) €5 € 7 :5
e) h=—
_la+c)h . >
g A= > ges.: h, 5 3=A:rn
Q) I'\=::_ic c=%—a
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